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ďR

◆
=

p
k

1X

n=0

�(n)
R (x)

✓
fRn(y)
gRn(y)

◆

<latexit sha1_base64="MQqtrBzmQJ/GfTfVTxyOSnVXTeM="></latexit>✓
ǔL
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Holography in anomaly flow
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Anomaly formula
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(�1,�1) for type 1B

(+1,�1) for type 2A

(�1,+1) for type 2B
<latexit sha1_base64="b+hWEr40XQsqTTfTNDWCL939mvM="></latexit>

(P0, P1) for  R

Determined by 

wave functions of gauge fields at y=0, L,


and BC of fermions.

Holography
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Anomaly flow and holography
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<latexit sha1_base64="zqrGrFFmLVFN3hZaEzclpG+ewPg="></latexit>

an`m(✓H , zL) = Q0kn(0)k`(0)km(0) + Q1kn(L)k`(L)km(L)
<latexit sha1_base64="1cqAIsB6CY9yt1HCvZS5VCzIlls="></latexit>

(Q0, Q1) =

8
>>><

>>>:

(+1,+1) for type 1A

(�1,�1) for type 1B

(+1,�1) for type 2A

(�1,+1) for type 2B

Anomaly cancellation

All anomalies are cancelled at once if
<latexit sha1_base64="A5YXrXb4ESh1v88adlLYWJ1whl8="></latexit>n1A = n1B , n2A = n2B

More generally if

<latexit sha1_base64="Xyu7YOepDv2Vhj0ZEYUE4iwTcDA="></latexit>

(n1A � n1B) � (n2A � n2B) = 0

<latexit sha1_base64="fFARD/g/RmTz3EhfO0Rufjm2hr8="></latexit>

(n1A � n1B) + (n2A � n2B) + (n̂R � n̂L) = 0 ,

<latexit sha1_base64="IpXLNq4yPAOwuN3EBvZWelNywUU="></latexit>

brane fermions at y = 0

indepen
dent of
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Chiral anomaly flows by 
<latexit sha1_base64="KLfnGUW2XzUuuAp4GU7jgoYlimc="></latexit>

✓H

Chiral fermion - vectorlike fermion transition

Summary

In RS, no level crossing, 

smooth variation of 
<latexit sha1_base64="I1NOVz/Ep+niSnDjePDUMMB2Ta4="></latexit>

an`m(✓H)

Holography : anomaly formula 
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= Q0kn(0)k`(0)km(0) + Q1kn(L)k`(L)km(L)

<latexit sha1_base64="7nXPCNj6wzBo8vNMpR7FwCxnS4M="></latexit>

an`m(✓H , zL)

Anomaly cancellation in GHU
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Flat space limit
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z = eky, AdS curvature = �6k2
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